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* Mip,s Loo‘p_s
Mi?.s A({ha_s
Sambol Tebles

M i S LoOP_S

DOnef Vies (9(‘0«10‘)3.06.
o Assembly

beg 85,8 L, I8 $s==3t then bowch with offack i
bn&

s, 8¢, L , |8 $s!=8t e bonh with offsek (

L‘> L cen be +ve Yo move PC gorww-J &g —ve o move
Pc bac,b(whfds

* Moachine Code
[ beyi 000|100 ssSsS LEEEE  pill LULC BLLL LLLU
bne - O0010| ssssS  LEEEE il LULC LLLUL LLLl
Lo | is  encocdeol w0 16-bit Q% compliment
° Hou does b(‘w—o"):ré_ with oﬁfsal—; Wor K ?
o Receli dhe fodch —execde cycle
[ Pc-o
while PC 1= $3)

IR = MEMLCPCT

//6_&- insérvebion ol MEMLCPC]]
Pc = PC +Yy

//n¢>"" 4 ba te (32-8i¢D instruckion

2
..o ron IR’s insévuckion...

Aone.



° bej/ X bne i\ mao’:%, Pc ba, AJJM&. L
L‘> Impl;c:‘l— Convers:on . PC = P(', + 4

° Loo? ide&
S ’00’95 shard- .. Keeo funning. the locp Lnkil
words '?"2 lines bne conclibion :Em l<

lon& -$_/$_., -_n_

—

.. nex¥ line ... when bne rons, PC is poinking. do dhe pext instrucho,

° Annoama_ g‘o M—coo'& loo? ooe:[zeacl- L) Ecsier wlo vie j&.be,\,s

Stard ... loop SbaA-... Seme |°°P"

n-2 lines

‘)ne, $_ ; $_./ Skt

. next fine...



_66,;' Wrile . MIPS Jgrcgfam dhed taltes non—ncéal-«'vc.
ink,d_o(- n in $1 £ shores dhe Sickoria]l Nl ke §3
se[”)
; Inikialize  the answer 83 = A 511 =
lis $3
R |

acd $‘H, £3, 40

; LooP ondil $1:=0

|oo? . 661, $'1/ $0, 6n0! <
mult+ 83, $-1
m&lo 83 ; $3= 3% §4

sob 1, $1, 811 j $1=$1-

beg 30, $0, loop
end : yr 331



_664 Recell dhe Fibonecei Segvence JeE7

f.=0

£ =4

'&'7,,4,;7_: Conn + gh Qgr n=>0
Werile o~ MIPS progoem which  {akes von-negedive inlges
n in 31 R ks '?n in 8£3

So|)

add 43, $0, S0 ; $3= ¥,
lis 34

cwored 1 ; 84 =1,

add $11, 84,30 ; $11=

) L-oo‘g ondil $1=0

loop © beq, $1, 80, end S
add 85, 54, $6 | $5= fu
aldd $u, 83, $u $4 = Lieg = Y]
sded §3, $5, 80 ; $3=$5= L,

sob $1, $4, $11 ;84 = $1-

bej/ %0, 50, loo?
end i 531




M1PS Arro.é_s
Wc Con LSC mipg.arra\a/ 40 weide ?fod’“*‘-" *Hv\&—

mani oo lade. mma.;.'
Lo leks o8 ek progrems e on accept > 2 inpubs!
s Weile o MIPS progum et owephs the ackless 2 an
occog— in 1 R ks lengdh n §2 R slores dhe orecduk
o€ the nuombers in the arreg in $I.
Sol™)
odd 82, £2, 32
odd  $2, $2, $2
cdd  $2, 82, 84 ] 32=4%32+ 31 (losk sy ackdoess)
lis  $u
woredd U
lis $3
- word

) Loop v\ 182, incementing  $1 by U ench losp
locp . beg, $1, 82, encl
lw $5, OCg1) , $5= *(31)= AcLCi]
mvlt 33, §S
mflo $3 ;) 3= 83 * AL
addd 31,81 S4 ; $4=$1+U4  (i=i+d jnexd Ac inclex)
locj, 30, 30, lecp
end : Jr 33l



ngmbol Tobles
* Assembler clivicdecd inte D ohascs
1) Analysis
L> Checks inp b R instrockion  corecdness
Ls Constroct o Symbo) Teble
—> Qloces the velves o all lebels defineed in cocle
2) sgml-ke.s:s
L Uses symbo| d&ble to svbstitvie labels with their velves

£ compule  branch Cbno/l,c,,) aflscts (o)
K lobels oce why wedo U passes over the cocke
L> Con’¥ combine Am\é;i-s & ngl-hcd-'.x Since we Gmn’t Know
i£ o lebel s boiné vsed before ik s def.'ncJ./
- Dur:né, the  second peds
gLé Cheeth $or Uses o ondeBined libels
Lo Checkk dhal lobed opesreds, when converred o ccldrsses
L or offcts, &l in the corect ronges
T hese fequire s cComplele symbol doble! Hence dhe ,?"J,oau
* % Remember Yo check For Jupl:m«b lobel ded”s  when
Consbrucking. o~ 53""601 Foble !



_63,_-'_ Consdrock the saméO\ doble.  &or the -ﬁ»”ow:ra, cocle
(océ?n :

lnbel © bey, 3O, $0,

g

Sw 53\/ l¢ ($0)
[is $u
0\66’( .WOrJ

| e.cd Store.

[ $20, 4 C$0)
sw $20, 28 (80)

enJ .



Sol".
,—> lebel velves o the nomber 0 aon-noll  (lines with
insbroctlons D thu- prececd  dhe bbel molbplind by H.

I begin|:
Tlefu | 2] kel bey 30O, $0, ofier
G532 1 3 3y
; Noll line, pok coovnleel
auelcflﬁ
S5[3|2 sw $31, l¢ ($0D
W |24 lis $u
3 1 obell: . woed afler
; Noll line, ok covnleel
| oecd Skoce|:
2 v $20, 4 C$0)
1 sw $20, 28 ($0)
; Null line, nok couvnleel
end|;
Sa,méo( Teble !
b&é.m : O ( no instrockions preceed beé;,,:)
lebe) : O ébsy"daea not preceed lube): defr)
Aler % (2 precceo(’-'rg, instcockions D
14 (.wml comes afbr both labels ,)
abe l¢ H insteection lines
[soed Store. © 20 (5 prccccd’:nd, insrockion lines)

end 28 (¢ v ” !



